Calculate the missing length of these rectangles:
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Now find the perimeter of each rectangle.





Area = 8 cm2





4 cm





Width = ___cm





Area = 16 cm2





4 cm





Width = ___cm





Area = 20 cm2





Length = ___cm





4 cm





Area = 45 cm2





Length = ___cm





5 cm





What could the lengths and widths of these rectangles be?





Area = 12 cm2





Width = ___cm





Length = ___cm





Area = 12 cm2





Width = ___cm





Length = ___cm





Area = �12 cm2





Length = ___cm





Width = ___cm








